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B.Com. — Core Course
BC 6B 12 - INCOME TAX LAW AND PRACTICE
{Common with B.Com. Vocational Stream) |
ISme: Three Hours - ' Maximum : 30 Weightage
| TLETL Part A
I- . Oquumm Answer all fivelve questions - -
A Choosethecon'ectanswer : |
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{d) Inmmefmmothersources. \ 5

(b) Ekpected rent.

(d) Fan' rental value.
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?-Ti_'nmaendmmmexs__&mm AT
- &‘h&u&ngthemmmeofothermm&emmmeﬁﬂnmdmﬁnallscaﬂed - ’

-C. Answermunewnrd CECCA TR s AE T e R |
9. Menhonthel(axmumllargma]Rate. i t§ k-

;“ s . ‘\%}; I 2 »“’:“:‘; S i . ,‘ ) - i ) = > 1 e, . . B
e m AT e BN L ' | o - Turn over
3 [t . ;:';:{{7”‘?@’,;??5 i 1:: S N l:':' : .l s me - B A Z

Scanned by CamScanner



2

11. What is the term for adjustment of losses
heads called?

& . >0
12. What is the exemption limit for female individual for the Assessment Year 201

. PartB
short Answer Type Questions. Answer all nine questions :
13. Define agricultural income.
14 Whoisa resident individual ? -

~

l;} What is meant by pmfessmn?

1 Mmmnanluﬂoﬁemsofmcomechargeahlemdermmmeﬁumat{m

| 17. What is the rate of tax of male individual for the Ase&mﬁ’wzﬂn-mm‘?

T thmhonthededuchonavaﬂahlemanmdiw&mlm&er&cbsﬂﬂn

19. Hm:wiﬂyouﬁndoutthee:emptmnhmltofﬂmseRentﬁﬂamfﬂRAw

20, Mr. A sold his property for Rs. 3;42,000 in December 2010, incurring an expense of

-Rs. 2,000, whchwaspnmhamdeecemberManrRs. 15600!} F:mdtrt taxsble

_capxtalgam_ 1;;,.;1,,;, B e Foos i g o Sl s ‘

21 Mrs. Smxthahasatotalmcomeofﬂs.&ﬁm'ﬂfariheémmentm au—em._r.ndomﬂ
’ taxpayablebyher ‘

= 9% 1=9 weightsge)

SlmtEssayorPamgrathueshms.(Answermﬁmqnmfmmseve*‘:“
722- Menhonanymmoumesexempt&nmtax. o :
-23 Mentmnthatransachunswhlchamregaxﬂedastransfer

_*24- Mr. Ramesh, anlndmnutxzenwentfm-hxgherstudlesmU.K.onl“ Mamh&ﬁﬁgsndmme
- backto India on 1“t Octobe_x 2010 Find out hL remdimhal wtatnﬂ for ﬁxe Asseﬁmmt year

zou-z,nz e Y ; e

'25 Afterservmgs:iyearsandeonths,Mrthoxsmredunderpa_vmentofﬂratm@a\m
; . retired from service on 30% November 2010. Theemployerpaxshmamm@nf&gmwx
'; gx:monﬂﬂysalaryatthehmeofmhmmentmkmm DA. Rs. 9.000 snd HRA.
4,500. Determine taxable amount of gmtmt}‘ﬁn'the Assessment year 2011-2012.

2} Mr, A is the owner of a ”
- Ra 80,000, The house. s

£ RSIZOOOforthem
1 ; Year 2011~2012'1 :

A
1
~

‘ ,vhoseMmupanaxue;sR&.aaoomdm\s
toutonanannnalmntofka 90,000. He paid municipal tax
year Find outann“a] value Of\hepmpmtyforthehssmsmmt
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N
N 97. Written down value of a building 1-4-2010 apgunted to Rs. 1,80,000. Additions to building

 on1-6-2010 amounted to Rs. 40.000. During the year building costing Rs. 30,000 was sold for
Rs. 45,000. Calculate depreciation allowable for the Assessment Year 2011-2012 at 10%.

(\ | Following are the details of i Income of a family .
9%

‘ Rs.
Mr, Raj from business - 250,000
Mrs. Raj from employment 2.10,000
 Minor son of Mr. Raj —interest income - g0 7 -
e Minor daughter from a music concert 20 000

Compute income of the members of family for the Asse ssment’year 201 1_2012
| (5 x 2 = 10 weightage)

NP

: A',PartD
[V EssayQueshons,(Answertwoquwhons ﬁ-omthree) ;

29 Explmnhowtheresxdenha]statusofanmdxndmmdetemed_

30 Mr. Rajiv. fnrmshed the followmg partxcuhrs of Ins mcome for the year 2010-2011 -

Salary e 7 3 RS- 15,000 p,-m : ?\\ h . :'. 3
,/f)eamess A]]owance i Rs. 1,250 pm. ;\\—a - ""'*ﬂi};
/EnteﬁammentAllowance o t__* \:‘ : : Rs. 1,000 pm % 2 Y

Emp]over’s and employee s contribntwn to RPF Rs 24,000 each =.
InterestonPFatQS%pa. e i R ) Rs. 19,000.
C}ty Compensatory Allowance . . . Rs 200 p.m.

He has been provided with an unfurnished aceommodation (population less than 10 lakhs)

o which the etnployee paid Re. 500 pm. The house is owned by the employer, Fair roitot

value 1sRs. 30,00&2.& A sweeper at Rs}_ZOO p-m. and a servant at Rs. 750 p.m. were

Pl;wdzg‘i fy ;(!;:Ze;nployer. Compute taxable income under the head salary for the Assessment
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31. The Profit and Loss Account of a merchant for the year ended 31-03-2011 is given below :

Particulars Amount | Particulars Amount
- Rs. . Rs.

Opening Stock 25,000 | Sales 5,00,000
Purchases 4 | 250,000 15,000
Wages 1,00,000 | Closing stock . | = 35,000

1,000 |
| 2000
1’560'-‘
- 1,000
| 's_oo'fi
"=,~‘“Int‘ef’38tm1cap1tal Q_/ | 1500_ e e

y e Hm 7 500 4

[ Ret prosit. e T

: s ] BB0000 [ T T T 550,000
Yonarereqmredtoeompufehmbusmess mcomefor theA.Y 2011-2012 Rt
S LRt 3 @2x 4=8 welghtage)
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